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Progrum: [fealth AII
Year/Farf: tr*t Year (2(}16)

Subjcct: MathemaficsandStatisfics

' x'ull Marks: 6{}

Pass Mark* 34

Time:3 hrs,
Candidrrlt€s are raqubed ta give ,their $fifiweys in the{r own wardr as f*r as practicahle. The

/igures in tht margix indirute.full marks

GrouP'A' 'l'

Attetftpt ALL questions. 
,

l Rewrite the follorving uslng absolute value sign:
*3<x<l

:" How many wiry-s can 5 cr:lours be arranged in a line from ? different
colours'?

3. rindgwheny="$dx - V2x4+7x+5

4. lnlegrate: I caszx dx
5' Findthevalueofxan,l"if[ 2 *:y\ :[z 1l^sr\rr"Lx+y 4 J-tE 41.

6. s|lrat will be the medien of a skew syrymntric if mean=35 and mode=2S?

7. Calculate the SD frorn the tbllorning data: 8, 9, 15, 23, 5, t 1, 19, 10, 12

8. The population of oertain cily was 4{),00S and died all together 35 pe*ple
during thal year. Find Crude Death Rate (CI]R).

Group'Ii' [8x2*l6l
Attenupt u$,L questions.
9. l.ct f:R-+R be definecl hy f1x;:2x+1 and g:R-+R be defined by g(x)*y:+2

then find f-og(x) and gof(x)"

li). Find the angle betrveen traro lines represented bv x2*?xy+l?y2=0.
I 1 L'-COS6It r. L.valllate: lllfi ----;-

f40

lowing data:

[&z 1:&]

1t.

13"

Int*grste: f tanx dx
L)rsw the hlstogram anrl tiequency polygon of ttls tb

t0-20 20-30 30-40 40-sa 50-60

F J 5 l1tl 4 7
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i5. Find the coefficient 
"i 

'Corr 
1*, y)616.5,var(x)=!. gg and var(y):l 00.

16. Wtiite Aoi;+rl *Af"r"tions of statistics. , :' .. i,$,$.

Crroup tE' 'l
Anempt ALL questions. t9*f=361

17' Out of 500 HIV parients in th6ir AIDS.stage 325 were suffering &om,Tube,rculosis, 230-were rrtr-d,# il; niurrfio*llr rrl'tr," p-tien(s vr6pesuffering from at leasr one of th6n, nnu rrow d;;f ,h#,ilere suffeflnefrom both. h ' 
.-- '-J '^

I 
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If ,osr 
- tygl * tog*-*-,^.i-^. ,.- ::" 9', - ,-, - ffi Rrove that x\zz=1 '

18' 
rind the 4s term in the expansidn ,f ff- ,r)u,

j,'"

A coin tossed three timesi Find tre probability of settins:a. exactly two heads + - 
b. at least nf"h*f;

19' Find fiorn hr$ prftrsi g tho d&ves 
"f,, 

; @-"
rtact ma:x ia****-ffi,f,r1r,.-r*OuJt",

I20 Inr*sr,*1r,J# an ; , -,

t4. Fiud rhe med,isa frsmlthe f,oll data:
x 10 20i, 30'i 4A 50
p t3 17,, 1? il, 9 5
rnfl the eoefl isient of

21. Frovetbat:

method of research.

r: OR
What do you mean by report writing? Write steps in report writing.

Gaod Lach I

22"

n.thg Xe.1ey{_ferrility. rate, age specifi* fertility rare and total
I:1!g&, the foll*wing datar

Aee qhup r5-19 20-?4 25-25 30-34 3s-39 40-44 45*4qNo gf Women
(00) i

)')(r 280 ?65 205 t50 75 55

No.#I"ive nirttr 754 2850 22il0 ts50 500 I20 80?j. do you nean by researcl ? Write in shorl about charf,cteristics of

23.

_1il ,,


